Bol. Soc. Paran. Mat. ©SPM -ISSN-2175-1188 on line SPM: www.spm.uem.br/bspm

(3s.) **v. 31** 1 (2013): 43–49. ISSN-00378712 IN PRESS doi:10.5269/bspm.v31i1.14432

# Global behavior of the difference equation $A_{T}$

$$x_{n+1} = \frac{1}{B - Cx_n x_{n-2}}$$

R. Abo-Zeid and Cengiz Cinar

ABSTRACT: The aim of this work is to investigate the global stability, periodic nature, oscillation and the boundedness of all admissible solutions of the difference equation

$$x_{n+1} = \frac{Ax_{n-1}}{B - Cx_n x_{n-2}}, \qquad n = 0, 1, 2, \dots$$

where A, B, C are positive real numbers.

Key Words: difference equation, periodic solution, globally asymptotically stable.

#### Contents

1	Introduction and Preliminaries	43
2	Linearized stability analysis	<b>45</b>
3	Oscillation	46
4	Global behavior of equation (5)	47
5	Numerical examples	48

# 1. Introduction and Preliminaries

Recently there has been a great interest in studying the qualitative properties of rational difference equations. For the systematical studies of rational and non-rational difference equations, one can refer to the monographs [1,3,4,5,6] and references therein.

M. Aloqeili in [2] discussed the stability properties and semi-cycle behavior of the solutions of the difference equation

$$x_{n+1} = \frac{x_{n-1}}{a - x_n x_{n-1}}, \qquad n = 0, 1, \dots$$

with real initial conditions and positive real number a. In this paper, we study the global asymptotic stability of the difference equation

$$x_{n+1} = \frac{Ax_{n-1}}{B - Cx_n x_{n-2}}, \qquad n = 0, 1, \dots$$
(1)

Typeset by  $\mathcal{B}^{s}\mathcal{P}_{M}$  style. © Soc. Paran. de Mat.

<sup>2000</sup> Mathematics Subject Classification: 39A11

where A, B, C are nonnegative real numbers.

Consider the difference equation

$$x_{n+1} = f(x_n, x_{n-1}, \dots, x_{n-k}), \qquad n = 0, 1, \cdots$$
 (2)

where  $f: \mathbb{R}^{k+1} \to \mathbb{R}$ .

# Definition 1.1 [4]. An equilibrium point for equation (2) is a point $\bar{x} \in R$ such that $\bar{x} = f(\bar{x}, \bar{x}, \dots, \bar{x})$ .

# Definition 1.2 $\left|\frac{4}{4}\right|$ .

- 1. An equilibrium point  $\bar{x}$  for equation (2) is called locally stable if for every  $\epsilon > 0$ ,  $\exists \delta > 0$  such that every solution  $\{x_n\}$  with initial conditions  $x_{-k}, x_{-k+1}, \ldots, x_0 \in ]\bar{x} - \delta, \bar{x} + \delta[$  is such that  $x_n \in ]\bar{x} - \epsilon, \bar{x} + \epsilon[, \forall n \in N.$ Otherwise  $\bar{x}$  is said to be unstable.
- 2. The equilibrium point  $\bar{x}$  of equation (2) is called locally asymptotically stable if it is locally stable and there exists  $\gamma > 0$  such that for any initial conditions  $x_{-k}, x_{-k+1}, \ldots, x_0 \in ]\bar{x} - \gamma, \bar{x} + \gamma[$ , the corresponding solution  $\{x_n\}$  tends to  $\bar{x}$ .
- 3. An equilibrium point  $\bar{x}$  for equation (2) is called global attractor if every solution  $\{x_n\}$  converges to  $\bar{x}$  as  $n \to \infty$ .
- 4. The equilibrium point  $\bar{x}$  for equation (2) is called globally asymptotically stable if it is locally asymptotically stable and global attractor.

The linearized equation associated with equation (2) is

$$y_{n+1} = \sum_{i=0}^{k} \frac{\partial f}{\partial x_{n-i}}(\bar{x}, \dots, \bar{x})y_{n-i}, \qquad n = 0, 1, 2, \dots$$
(3)

The characteristic equation associated with equation (3) is

$$\lambda^{k+1} - \sum_{i=0}^{k} \frac{\partial f}{\partial x_{n-i}} (\bar{x}, \dots, \bar{x}) \lambda^{k-i} = 0.$$
(4)

**Theorem 1.3** [4]. Assume that f is a  $C^1$  function and let  $\bar{x}$  be an equilibrium point of equation (2). Then the following statements are true:

- 1. If all roots of equation (4) lie in the open disk  $|\lambda| < 1$ , then  $\bar{x}$  is locally asymptotically stable.
- 2. If at least one root of equation (4) has absolute value greater than one, then  $\bar{x}$  is unstable.

The change of variables  $x_n = \sqrt{\frac{B}{C}} y_n$  reduces equation (1) to the difference equation  $y_{n+1} = \frac{ry_{n-1}}{1 - y_n y_{n-2}}, \qquad n = 0, 1, 2, \dots$  (5)

where  $r = \frac{A}{B}$ .

# 2. Linearized stability analysis

In this section we study the local asymptotic stability of the equilibrium points of equation (5). We can see that equation (5) has the equilibrium points  $\bar{y} = 0$  and  $\bar{y}_1 = \sqrt{1-r}$ ,  $\bar{y}_2 = -\sqrt{1-r}$  when r < 1 and the zero equilibrium only when  $r \ge 1$ . The linearized equation associated with equation (5) about  $\bar{y}$  is

$$z_{n+1} - \frac{r}{1 - \bar{y}^2} z_{n-1} - \frac{r\bar{y}^2}{(1 - \bar{y}^2)^2} (z_n + z_{n-2}) = 0, \qquad n = 0, 1, 2, \dots$$
(6)

The characteristic equation associated with this equation is

$$\lambda^3 - \frac{r}{1 - \bar{y}^2}\lambda - \frac{r\bar{y}^2}{(1 - \bar{y}^2)^2}(\lambda^2 + 1) = 0.$$
(7)

We summarize the results of this section in the following theorem.

**Theorem 2.1** 1. If r > 1, then the zero equilibrium point is a saddle point.

2. If r < 1, then the equilibrium points  $\bar{y} = 0$  is locally asymptotically stable and  $\bar{y}_1 = \sqrt{1-r}, \ \bar{y}_2 = -\sqrt{1-r}$  are unstable.

**Proof:** The linearized equation associated with equation (5) about  $\bar{y} = 0$  is

$$z_{n+1} - rz_{n-1} = 0, \qquad n = 0, 1, 2, \dots$$

The characteristic equation associated with this equation is

$$\lambda^3 - r\lambda = 0.$$

That is  $\lambda = 0, \pm \sqrt{r}$ .

 $are \ unstable.$ 

1. If r < 1, then  $|\lambda| < 1$  for all roots and  $\bar{y} = 0$  is locally asymptotically stable.

2. If r > 1, it follows that  $\bar{y} = 0$  is unstable (saddle point). The linearized equation (6) about  $\bar{y} = \pm \sqrt{1-r}$  becomes  $z_{n+1} - z_{n-1} - (\frac{1}{r})(1-r)(z_n + z_{n-2}) = 0$ , n = 0, 1, 2, ...The associated characteristic equation is  $\lambda^3 - \lambda - (\frac{1}{r})(1-r)(\lambda^2 + 1) = 0$ . Let  $f(\lambda) = \lambda^3 - \lambda - (\frac{1}{r})(1-r)(\lambda^2 + 1)$ . We can see that  $f(\lambda)$  has a root in  $(1, \infty)$ . Then  $\bar{y_1} = \sqrt{1-r}$ ,  $\bar{y_2} = -\sqrt{1-r}$ 

# R. Abo-Zeid and C. Cinar

#### 3. Oscillation

**Theorem 3.1** Assume that r < 1. Then the interval  $(-\sqrt{1-r}, \sqrt{1-r})$  is an invariant interval for equation (5).

**Proof:** The proof is by induction. Suppose that  $y_{-2}, y_{-1}, y_0 \in (-\sqrt{1-r}, \sqrt{1-r})$ . Hence  $|y_{-i}| < \sqrt{1-r}$ , i = 0, 1, 2. This implies that  $|y_{-2}y_0| < 1-r$ . Then

$$|y_{1}| = \frac{r |y_{-1}|}{|1 - y_{0}y_{-2}|} < \frac{r |y_{-1}|}{|1 - |y_{0}y_{-2}||} < |y_{-1}|,$$
$$|y_{2}| = \frac{r |y_{0}|}{|1 - y_{1}y_{-1}|} < \frac{r |y_{0}|}{|1 - |y_{1}y_{-1}||} < |y_{0}|,$$

where  $|y_1| < |y_{-1}| < \sqrt{1-r}$ .

Now if for a certain  $n_0 \in \mathbb{N}$  we have  $y_{n_0-2}, y_{n_0-1}, y_{n_0} \in (-\sqrt{1-r}, \sqrt{1-r})$ , then  $|y_{n_0+1}| = \frac{r|y_{n_0-1}|}{|1-y_{n_0}y_{n_0-2}|} < \frac{r|y_{n_0-1}|}{|1-|y_{n_0}y_{n_0-2}||} < |y_{n_0-1}| < \sqrt{1-r}$ . This completes the proof.

**Corollary 3.2** Assume that  $\{y_n\}_{n=-2}^{\infty}$  be a solution of equation (5) such that either  $y_{-2}, y_{-1}, y_0 \in (0, \sqrt{1-r})$  (or  $(-\sqrt{1-r}, 0)$ ). Then  $\{y_n\}_{n=-2}^{\infty}$  is positive (or negative). Moreover,  $\{y_n\}_{n=-2}^{\infty}$  decreases (or increases) to the zero equilibrium point.

**Theorem 3.3** Let  $\{y_n\}_{n=-2}^{\infty}$  be a nontrivial solution of equation (5) and let  $\bar{y_1} = \sqrt{1-r}$ ,  $\bar{y_2} = -\sqrt{1-r}$  denote the nonzero equilibrium points of equation (5) such that either,

 $\begin{array}{c} (C_1) \ \bar{y_2} = -\sqrt{1-r} < y_{-1} < 0 < y_{-2}, y_0 < \sqrt{1-r} = \bar{y_1} \\ or \\ (C_1) \ \bar{y_1} = -\sqrt{1-r} < y_{-1} < 0 < y_{-2}, y_0 < \sqrt{1-r} = \bar{y_1} \\ \end{array}$ 

 $\begin{array}{l} (C_2) \ \bar{y_2} = -\sqrt{1-r} < y_{-2}, y_0 < 0 < y_{-1} < \sqrt{1-r} = \bar{y_1} \\ \text{is satisfied. Then } \{y_n\}_{n=-2}^{\infty} \ \text{oscillates about } \bar{y} = 0 \ \text{with semicycles of length one.} \\ \text{Moreover } y_{2n+2} < (>)y_{2n} \ \text{and } y_{2n+1} > (<)y_{2n-1}, \ n = 0, 1, 2, \ldots \end{array}$ 

**Proof:** Assume that condition  $(C_1)$  is satisfied. Then we have

 $y_1 = \frac{ry_{-1}}{1 - y_0 y_{-2}} > y_{-1}, y_2 = \frac{ry_0}{r - y_{-1} y_1} < y_0.$ Now suppose that for a fixed  $n_0 \in \mathbb{N}$  we have

$$-\sqrt{1-r} < y_{2n_0-1} < y_{2n_0+1} < 0 \quad and \quad 0 < y_{2n_0} < y_{2n_0-2} < \sqrt{1-r}.$$

Then

$$0 > y_{2n_0+3} = \frac{ry_{2n_0+1}}{1 - y_{2n_0+2}y_{2n_0}} > y_{2n_0+1},$$

and

$$0 < y_{2n_0+2} = \frac{ry_{2n_0}}{1 - y_{2n_0+1}y_{2n_0-1}} < y_{2n_0}$$

Therefore,  $y_{2n} > y_{2n+2} > 0$  and  $y_{2n-1} < y_{2n+1} < 0$  for all  $n \ge -1$  and the result follows.

For condition  $(C_2)$ , the result is similar and will be omitted.

# 4. Global behavior of equation (5)

**Theorem 4.1** The following statements are true.

- 1. If r < 1, then the zero equilibrium point is a global attractor with basin  $(-\sqrt{1-r}, \sqrt{1-r})^3$ .
- 2. If r = 1, then equation (5) has prime period two solutions of the form  $\ldots, 0, \varphi, 0, \varphi, 0, \ldots,$ where  $\varphi \in \mathbb{R}$ .
- 3. If r > 1, then there exist solutions which are neither bounded nor persist.

# **Proof:**

1. Suppose that  $y_{-2}, y_{-1}, y_0 \in (-\sqrt{1-r}, \sqrt{1-r})$ . Then using theorem (3.1) we have that  $y_n \in (-\sqrt{1-r}, \sqrt{1-r}), n \ge 1$ . Moreover, we have  $|y_{n+1}| < |y_{n-1}|, n = 0, 1, ...$ That is  $|y_{2n+1}| < |y_{2n-1}|$  and  $|y_{2n+2}| < |y_{2n}|, n = 0, 1, ...$ From equation (5) we have

$$|y_{2n+1}| = \frac{r |y_{2n-1}|}{|1 - y_{2n}y_{2n-2}|} \le \frac{r |y_{2n-1}|}{|1 - |y_{2n}y_{2n-2}||}$$

and

$$|y_{2n+2}| = \frac{r |y_{2n}|}{|1 - y_{2n+1}y_{2n-1}|} \le \frac{r |y_{2n}|}{|1 - |y_{2n+1}y_{2n-1}||}$$

Now suppose that  $\lim_{n\to\infty} |y_{2n+1}| = L$  and  $\lim_{n\to\infty} |y_{2n}| = M$ . Then

$$L \le \frac{rL}{\mid 1 - M^2 \mid} \quad and \quad M \le \frac{rM}{\mid 1 - L^2 \mid}$$

If  $L \neq 0$ , then  $|1 - M^2| \leq r$ . This implies that  $\sqrt{1-r} \leq M \leq \sqrt{1+r}$ , which is a contradiction. Hence we have L = 0. The second inequality gives  $M \leq rM$ , from which M = 0 where r < 1. Therefore,  $\{y_n\}_{n=-2}^{\infty}$  converges to zero. This completes the proof.

- 2. Clear!
- 3. Let  $\{y_n\}_{n=-2}^{\infty}$  be a solution of equation (5) with the initial conditions,  $|y_{-i}| < \sqrt{r-1} (>\sqrt{r+1})$ , i = 0, 2 and  $|y_{-i}| > \sqrt{r+1} (<\sqrt{r-1})$ , i = 1. We consider only the case  $|y_{-i}| < \sqrt{r-1}$ , i = 0, 2 and  $|y_{-i}| > \sqrt{r+1}$ , i = 1. It follows that  $|y_{-2}y_0| = |y_{-2}| |y_0| < r-1$ . That is  $-r+1 < y_{-2}y_0 < r-1$ . This implies that  $-r+2 < 1-y_{-2}y_0 < r$ . Hence we have

$$|y_1| = \frac{|ry_{-1}|}{|1 - y_0y_{-2}|} > \frac{r|y_{-1}|}{r} = |y_{-1}| > \sqrt{r+1}$$

It follows that  $|y_1y_{-1}| = |y_1| |y_{-1}| > r+1$ , which implies that  $r+2 < 1-y_1y_{-1} < -r$  and so

$$|y_2| = \frac{|ry_0|}{|1-y_1y_{-1}|} < \frac{r|y_0|}{r} = |y_0| < \sqrt{r-1}.$$

# R. Abo-Zeid and C. Cinar

By induction we get  $|y_{2n+1}| > |y_{2n-1}| > \sqrt{r+1}$  and  $|y_{2n+2}| < |y_{2n}| < \sqrt{r-1}$ ,  $n \ge 0$ .

Now suppose that  $|y_{2n}| \rightarrow L$  and  $|y_{2n+1}| \rightarrow M$  as  $n \rightarrow \infty$ . But

$$y_{2n+2} \mid = \frac{r \mid y_{2n} \mid}{\mid 1 - y_{2n+1}y_{2n-1} \mid} \le \frac{r \mid y_{2n} \mid}{\mid 1 - \mid y_{2n+1}y_{2n-1} \mid}.$$

Then  $L \leq \frac{rL}{|1-M^2|}$ . If  $L \neq 0$ , then  $|1-M^2| \leq r$ . This implies that  $M \leq \sqrt{r+1}$ . This is a contradiction and so L = 0. Now, as

$$|y_{2n+1}| = \frac{r |y_{2n-1}|}{|1 - y_{2n}y_{2n-2}|} \ge \frac{r |y_{2n-1}|}{1 + |y_{2n}||y_{2n-2}|},$$

then we have  $M \ge \frac{rM}{1+L^2} = rM$  and therefore,  $M = \infty$ . The case when  $|y_{-i}| > \sqrt{r+1}$ , i = 0, 2 and  $|y_{-i}| < \sqrt{r-1}$ , i = 1 is similar and will be omitted.

**Conjecture** Assume that r < 1. Then the zero equilibrium point is global asymptotically stable (in the set of all admissible solutions).

# 5. Numerical examples

**Example 5.1** Figure 1. shows that if r = 0.6, then the solution  $\{y_n\}_{n=-2}^{\infty}$  with initial conditions  $y_{-2} = 0.3$ ,  $y_{-1} = -0.2$ ,  $y_0 = 0.35$  converges to zero.

**Example 5.2** Figure 2. shows that if r = 1.9, then the solution  $\{y_n\}_{n=-2}^{\infty}$  with initial conditions  $y_{-2} = 0.9$ ,  $y_{-1} = -1.7$ ,  $y_0 = 0.9$  is neither bounded nor persist.



Figure 1: The difference equation  $y_{n+1} = \frac{0.6y_{n-1}}{1-y_{n-2}y_n}$ 

48



#### References

- 1. R.P. Agarwal, Difference Equations and Inequalities, second edition, Dekker, New York, 1992.
- M. Aloqeili, Dynamics of a rational difference equation, Appl. Math. and Comput. 176 (2) (2006) 768 - 774.
- 3. E.A. Grove and G. Ladas, *Periodicities in Nonlinear Difference Equations*, Chapman and Hall/CRC, 2005.
- 4. V.L. Kocic, G. Ladas, Global Behavior of Nonlinear Difference Equations of Higher Order with Applications, Kluwer Academic, Dordrecht 1993.
- 5. M.R.S. Kulenovic and G. Ladas, Dynamics of second order rational Dimerence Equations; With Open Problems and Conjectures, Chapman and Hall/HRC Boca Raton, 2002.
- R.E. Mickens, Difference Equations, Theory and Applications 2<sup>nd</sup> Edition, Van Nostrand Renhold, 1990.

R. Abo-Zeid Department of Basic Science, Faculty of Engineering, October 6 university, 6<sup>th</sup> of October Governorate, Egypt. E-mail address: abuzead73@yahoo.com

and

Cengiz Cinar Mathematics Department, Faculty of Education, Selcuk University, 42090, Konya, Turkey. E-mail address: ccinar25@yahoo.com